Mc))

MERTSAN®

rUMP

MTS-230 K

KOD/CODE MTS-230 K

TS 30
oretn o 540
! 2.7
iy 2
e 35
eRee 20W50
iy S 0.50
AR 22x30x38
oy (€6 13.15

247 g3 | 195
: 52
‘ ) == 4_] y fia
¢ :‘ ]_ 1| O)
IE b
gi I
3 /I
®» L1 O
4‘| § © ®
, lﬁ‘ . 2l sl . o
» Rl
- ﬁ /I @ ®
1 dile 107 74
16,9— -

www.mertsanpump.com




Mc))
MERTSAN®

rUMP

MTS-230 K

www.mertsanpump.com




Ne URUN KODU / PRODUCT CODE AGIKLAMA / DESCRIPTION OLGULER / DIMENSIONS ADET / QTY
1 MTS-230 K/1 (SU GiRiSi) SOMUN / LOCK NUT @ 32x32 1
2 MTS-230 K/2 (SU GIRiS) DIRSEK SOMUNU / HOSETAIL FOR FLY NUT SRA 1
3 MTS-230 K/3 ORING / O-RING 2 027.00x4.00 1
4 MTS-230 K/4 NIiPEL / NIPPLE 1
5 MTS-230 K/5 ORING / O-RING 2 24.99x3.53 1
6 MTS-230 K/6 TUP KAPAGI (KISA MANIFOLD) / AIR TUBE COVER(SHORT MANIFOLD) 1
7 MTS-230 K/7 ORING / O-RING 2 21.00x3.00 2
8 MTS-230 K/8 iMBUS CIVATA / SCREW 2 M8x25 2
9 MTS-230 K/9 TUP UST KAPAGI / AIR TUBE UPPER ACCUMULATOR 1
10 MTS-230 K/10 iMBUS CIVATA / SCREW 2 M8xa5 s
" MTS-230 K/11 PUL / RONDELA 2 8MM 3
12 MTS-230 K/12 TIRTIKLI RONDELLA / RONDELA 1
13 MTS-230 K/13 ORING / O-RING 2007.59x2.62 1
14 MTS-230 K/14 TUP SIBOBU / AIR TUBE VALVE 1
15 MTS-230 K/15 HAVA TUPU i¢ LASTIK / AIR TUBE INNER LASTIC 1
16 MTS-230 K/16 IMBUS CIVATA / SCREW 2 M10x50 2
17 MTS-230 K/17 TUPU ALT KAPAK / AIR TUBE INFRA ACCUMULATOR 1
18 MTS-230 K/18 FIBERLI SOMUN / NUT 28 MM s
19 MTS-230 K/19 KASNAK / PULLEY 1
20 MTS-230 K/20 IMBUS CIVATA / SCREW 2 M10xa5 3
21 MTS-230 K/21 KRANK / CRANK 1
22 MTS-230 K/22 SEGMAN / PISTON RING 247 1
23 MTS-230 K/23 BILEZIK / RING 2 5xa2 2
24 MTS-230 K/24 KEGE / SEAL 2 50x65x8 1
25 MTS-230 K/25 RULMAN / BEARING 5020 1
26 MTS-230 K/26 GOVDE / CRANKCASE 1
27 MTS-230 K/27 YAG BOSALTMA TAPASI / OIL OUTPUT TAP 1
28 MTS-230 K/28 KRANK PULU / CRANK WASHER 1
29 MTS-230 K/29 SEGMAN / PISTON RING 218 MM 1
30 MTS-230 K/30 RULMAN / BEARING 6204 1
31 MTS-230 K/31 KEGE / SEAL 2 47x8 1
32 MTS-230 K/32 SEGMAN / PISTON RING 2 47 1
33 MTS-230 K/33 IMBUS CIVATA / SCREW 2 8x80 2
34 MTS-230 K/34 PUL / RONDELA Z8MM 2
35 MTS-230 K/35 AYAK / PUMP MOUNTING STAND 2
36 MTS-230 K/36 SOMUN / LOCK NUT 28 MM >
37 MTS-230 K/37 BIYEL KOLU / CONNECTION ROD >
38 MTS-230 K/38 SEGMAN / PISTON RING 255 2
39 MTS-230 K/39 PISTON / PISTON >
40 MTS-230 K/40 PERNO / PERNO 214 M >
# MTS-230 K/41 SEGMAN / PISTON RING 214 MM 7
42 MTS-230 K/42 GOMLEK / PISTON SLEEVE >
43 MTS-230 K/43 MEMBRAN LASTIGI / MEMBRANE RUBBER >
a4 MTS-230 K/44 MEMBRAN PULU / MEMBRANE WASHER 2
45 MTS-230 K/45 MEMBRAN CIVATASI / MEMBRANE SCREW 2 M10x20 2
46 MTS-230 K/46 SIBOP KAFESI / VALVE CAGE 2
47 MTS-230 K/47 SIBOP YAYI / VALVE SPRING 2
48 MTS-230 K/48 SIBOP PULU / VALVE WASHER 2
49 MTS-230 K/49 SIBOP KROMU / VALVE CHROMIUM 2
50 MTS-230 K/50 ORING / O-RING 2 24.99x3.53 2
51 MTS-230 K/51 MEMBRAN KAPAGI / MEMBRANE COVER >
52 MTS-230 K/52 PUL / RONDELA 2 12MM )
53 MTS-230 K/53 IMBUS CIVATA / SCREW 2 12x55 )
54 MTS-230 K/54 IMBUS CIVATA / SCREW 2 M6x25 2
55 MTS-230 K/55 PUL / RONDELA 2 6 MM 2
56 MTS-230 K/56 YAGDANLIK GOVDESI / OILCAN 1
57 MTS-230 K/57 ORING (KAPAK ORINGI) / O-RING 1
58 MTS-230 K/58 YAGDANLIK KAPAGI / OILCAN COVER 1
59 MTS-230 K/59 ORING / O-RING @ 015.30x2.40 1
60 MTS-230 K/60 VANA / VALVE Cw 3
61 MTS-230 K/61 KOR TAPA / BLANKING TAP 1
62 MTS-230 K/62 ALT GOVDE / INFRA CASE 1
63 MTS-230 K/63 ORING / O-RING 2 23.81x2.62 1
64 MTS-230 K/64 MANOMETRE / MANOMETER 1
65 MTS-230 K/65 IMBUS CIVATA / SCREW 2 M8x30 2
66 MTS-230 K/66 ORING / O-RING 2 36.10x3.53 1
67 MTS-230 K/67 KROM BASKI PULU / CHROMIUM COMPRESSION WASHER 1
68 MTS-230 K/68 BASKI YAYI / COMPRESSION SPRING Z3CM 1
69 MTS-230 K/69 BASKI CONTASI / COMPRESSION GASKET 1
70 MTS-230 K/70 BASKI MiLi / COMPRESSION MILL 1
7 MTS-230 K/71 CONTA/ GASKET 1
72 MTS-230 K/72 BASKI PULU / COMPRESSION MILL 1
73 MTS-230 K/73 KOL YAY!/ LEVER SPRING Z4CM 1
74 MTS-230 K/74 AYAR PULU / REGULATING WASHER 1
75 MTS-230 K/75 AYAR BASKI SOMUNU / COMPRESSION REGULATING NUT 1
76 MTS-230 K/76 REGULATOR DIRSEGI / REGULATOR ELBOW 1
77 MTS-230 K/77 ORING / O-RING 2 16.00x2.50 1
78 MTS-230 K/78 REGULATOR DIRSEK SOMUNU / REGULATOR NUT 1
79 MTS-230 K/79 UST GOVDE / UPPER CASE 1
80 MTS-230 K/80 REGULATOR AYAR KOLU / REGULATOR LEVER 1
81 MTS-230 K/81 KOL PiMi / LEVER PIM 1
82 MTS-230 K/82 YARIKLI PiM / SLOTTED PIM 26 MM 2
83 MTS-230 K/83 REGULATOR GATALI/ REGULATOR FORK 1
84 MTS-230 K/84 TUP SIBOP KAPAGI / AIR TUBE VALVE COVER 1

www.mertsanpump.com




